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    Math 8
FINDING EQUATIONS OF THE LINE 

Problems 1 – 10, write an equation of a line that has the given slope and that passes through the given point. Show work.

1.   m  =  2, ( 1, 4 )


3.   m  =  2, ( - 3, 4 )   

2. m  =  - 3, ( - 2, - 1 )


4.   m  =  1, ( 6, 2 )

5.   m  =  - 4, ( - 1, 6 )


7.   m  =  - 1, ( 2, 3 )
6.   m  =  4, ( - 1, 0 )



8.   m  =  0, ( 4, - 2 )

9.   m  =  3, (  4, 7 )



10.   m  =  - 2, (  - 1, 3 )

Problems 11 – 20, write the equation of the line that passes through the given points. Show work.

11.   ( 1, 4 ), ( 3, 8 )



12.   ( 3, 1 ), ( 9, 7 )
13.   ( 6, 2 ), ( 10, 14 )




15.   ( 3, - 1 ), ( 6, 8 )

14.   ( - 2, - 5 ), ( - 1, - 2 )



16.   ( 0, 0 ), ( - 2, 12 )

17.   ( 8, 7 ), ( 6, - 7 )



19.   ( - 1, 7 ), ( - 4, 4 )

18.   ( 4, - 1 ), ( 7, - 10 )


20.   (4, 1 ), ( 7, 13 )

21. 
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The points (4,1) and (x, —6) lie on the same line. If the slope of the lineis 1,
what is the value of x?

A x=-3
B x=3
C x=9




22.  

[image: image2.png]42

Line 1 passes through the points (=3, —7.5) and (2, —5). Tahlia determined that the
equation of line 1 is y = 0.5x. Explain the error Tahlia made while determining her
equation. Be sure to include the correct equation in your explanation.

Answer





